1072 =

a(d cot(B)

103k

] I I DU D DU | P 105

10
10

Ratl

Ratl
-
N

0.95!

3 -2 -1 0 1 2 3 -3 2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

-l 5 T T e s e S PY P Sv
pu——— —pIXe|CBETemplate uarel( T pLIfo eta o]
—— pDIXe| clemplateCu I uare, € (o] ela. 0.
—— —pixe|CRETemplateCuiCnisquare2—step2—pilio —eta o}
—_— pixel elemplateCu | uare3U—ste (0] ela; 0.
£ : : £ :
) : X o P PR
e : e -
= N R S U P = :
= : UN 3
- : I S S SO e
e : 2
5 Lo N ©

1072+

NP U U D O ||| T 105

1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[T T
N
|
[
o

n=
o
s
o
() H
2 :
b .
o103 | I |
= :
© r N
o L
] R S SRR R S | S

23T =2 T 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


